
SATURN





SATURN

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com



SATURN

ASTRA ( H ) 2008-2009

OP-11405
Ball Joint

Front
D=Ø18mm

352830

OP-13452
Axial Joint

Front
TrwSteering  M14x1,5-L=280mm

9118128

OP-14467
Stabilizer Link

Front
Only:IDSSüspansionSist.  L=300mm

350613

OP-16465N
Suspension Control Arm

Front Right Lower

352030

OP-16466
Suspension Control Arm and Ball Joint

Assembly

Front Left Lower

352029

OP-16465
Suspension Control Arm and Ball Joint
Assembly

Front Right Lower

352030

OP-12462
Tie Rod End

Front Left
M14x1,5Rht

1603289

OP-14450
Stabilizer Link

Front
Plastic  L=300mm

90498745

OP-13463
Axial Joint

Front
Only:ZF-SteeringSportSüsp.18,19incWh

eel  M14x1,5-L=276mm

93181230

OP-12461
Tie Rod End

Front Right
M14x1,5Rht

1603288

OP-20531
Control Arm Bushing

Front Outer

352324

VUE 2002-2007

CH-16229
Suspension Control Arm and Ball Joint

Assembly

Front Left

25878029

CH-16228
Suspension Control Arm and Ball Joint
Assembly

Front Right

25878028

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 4 info@parsrot.com




